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(XLt
a2 ) — bk  issaowc<ery  1-1BETEE
A=1/2x(0.9+1.9) x2. 0x?2
=56 m2
2-2MF E S
A=1/2x (4.8+6.8) x2.0
= 11.6 m2
V=56x21+11.6x13.6+1/2x11.6
x0.5 m° 172.42
B h 4+ o t=tom | A = 1/2x2.114x (1.0+1.0)+2. 114%x 4.8 m? 12.26
A=1/2x2.0x (1.9+0.9) x2
+(2.1x2+3.0) x2.0 m? 20. 00
A=2x20xy (140.572) x15.7
+1/2%2.0x 4y (1+0.572) x0.5 m? 70.77  103.03
R—54> | t=bcm m? 57.00




RAREET

5+ H 215 B

BE&H) 2m
HERAK avy)-k
1. M EEHET
DEE
Hi& H4X BHE (kg/m) ME
T A ®318.5%10.3 78.3] STK400
FHH ®3185%12.7 95.8] STK400
AoaL N TL—b
YU MER L ELPDIY RE Eg ®E
"3y ©318.5%10.3 3SJ1 500 25 37.51 SM490A
Y342 ©3185%x12.7 3SJ2 500 32 48.02 SM490A
B{r mm mm kg/ & Al
NFATIFAE LU S5 F=7 -} FEHHAX:- ®3185%10.3
BB AL EHE w2 ®E 5=
D29 ER 3SB5 ®550 22[ SM490A 51.37
Q5D ER 3SB6 ®550 22[ SM490A 51.37
@7 h—PL 3SA2 0610 9 SS400 26.16
DES SW2 070 16 SS400 0.56
GREE1 STP1 120 X 100 12 SS400 0.95
®X 51=PL 3ST2 ® 306 9 SS400 5.20
R mm mm kg/ & Pl
HEERAK- - avy)-k
HRILLE
[T BEE (kg/tyh)
M22-100(S10T) 0.613
M22-85(S10T) 0.568
2. £ MES
1) F1
ER#F S (mm)] B=E B8 (ke ME
®3185x10.3 * 2,770 1 216.89 [STK400
* 1,689 1 132.25
* 617 1 48.31
YYD P3185%x 103 [ * 3SJ1 1 37.51 [SM490A
D25 ER * 3SB5 1 51.37 [SM490A
QRSN ER * 3SB6 1 51.37 [SM490A
®F>H—PL * 3SA2 2 52.32 [SS400
DESE * SW2 8 4.47 [SS400
GREaT STP1 2 1.91 [SS400
®X 5:1-PL * 3ST2 1 5.20 [SS400
&t 599.69
3. fiMESE
= 2 BE (kg e 2= (k)
Fi ESES 599.69 2 1,199.38
M22-85(S10T) 0.568 12 6.82
&t 1,206.20
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FRMEEER
1. BB TR B SRS

DB 1 M EYVEEMm2)  GRILMES)

BEHD

B EE(m?) BFF% @E#Em)

MLy 7RI L ABEER 0.0068 24  0.1632
2. WighEY FRYFEEMIEET
NS
Do 3185 t= 10.3 :0.3185x 1 = 1.001 m?/m
@ o 508 t= 9.5 :0.5080 X 71 = 1.596 m?/m
O 3185 t= 10.3 :0.3185x 1 = 1.001 m?/m
DIMELMEDBERDELY
) 508 :0.5080.72°2 % 1 = 0.2 m?
o) 3185 :0.3185,72"2% ;1 = 0.08 m?
HTaA N TL—k
v IMUMER L VMUMNE wRE i
DY 31UM ¢ 318.5%10.3) 500 25 0.16
@Y 31U ¢ 508.0 X 9.5) 700 28 0.24
@Y311UM ¢ 318.5%10.3) 500 25 0.16
=K v mm mm m?/ Bk
X ST =
- p 3185 :0.3185,/72"2x 1 = 0.08 m*/&FT
3. BEMEEmIE
1) F1
B4 £& (mm) HE EiE (m’)
$3185 2,236 1 2.24
1,201 1 1.20
617 1 0.62
¢ 31858 FEIHELY 2 -0.16
DY'31UM ¢ 318.5 % 10.3) 1 0.16
Ki 5t 1 0.08
&t 4.14
4. FEMIE
RETEYETE
s mig (m2) e i (m2)
HMET a1k 0.1632 1 0.16
2)1RiGh- FFEYmE
s mig (m2) e i (m2)
1)  F1 414 2 8.28
&t 8.28






